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The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.

1. Answer any five questions : 1x5=5

(a) Phase rule of any general system is
(i) F+P=C-1
(i) F+P=C+1
(i) F+P=C-2
(@iv) F+P=C+2
(b) Which of the following units can be used for the cell constant?
(i) cm™
(i) ohm™' cm™
(i) cm
(iv) ohm™ cm

(c) Which one of the following solutions is Primary standard solution?
(i) NaCl

(i) HCI
(i) K,Cr,0,

(iv) H,S0,
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(2)
(d) Acid rain is due to —

(1) Production of SO, gas
(i) SO, gas converted to H,SO,
(i) Production of CO,

(iv) Production of H,
(e) From bellow which one give the value of [A  °(NH,OH)] —
@® A,°(NH,OH)]+A, °(NH,Cl)-A, °(HCI)
i) A,°(NH,CH]+A,°(NaOH)-A, °(NaCl)
i) A, °(NH,CH]+A,°(NaCl)-A,°(NaOH)

) A, °(NaOH)]+A,°(NaCl)-A, °(NH,CI)
(f) Which of the following gases can cause severe damage to ozone layer?
(i) Chlorine
(i) Hydrogen sulphide
(i) Nitrogen dioxide
(iv) Nitrogen gas
(g) Mixture of Acetone and Ethanol —
(1) Does not follow Rault’s law
(i) Ideal solution
(1) Show positive deviation
(iv) Show negative deviation
(h) What would be the normality of 0.1(M) KMnO,?
® 0.5 (N)
(i) 0.1 (N)
(i) (N)/20
(iv) (N)/4



(3)

2. Answer any four questions : 2x4=8
(a) Write the unit of specific and equivalent conductance.
(b) What is EDTA? Mention its role in titration.
(c) Equivalent conductance of a strong electrolyte increases with dilution. Explain.
(d) State the principle of Column Chromatography.
(e) Write down the characteristics of ideal solution.
(f) What is ozone layer depletion? Mention its causes?
(g) State Faraday’s first law and explain mathematically.

(h) Discuss the action of soaps and detergent.

3. Answer any two questions : 2x6=12

(@) (1) Define specific conductance of a solution. Give relation between equivalent
conductance and specific conductance specifying all terms. 1+2=3

(i) At infinite dilution the equivalent conductance of NaCl, HCl and CH,COONa are
126.5, 426.2 and 91.0 ohm™ cm? equivalent! respectively. Find out the equivalent

conductances of CH;COOH at infinite dilution. 3

(b) (1) Write down the Raoult’s law for relative lowering of vapour pressure. 2
(i) What is Azeotropic mixture? Give an example. 2

(1) Derive Clausius-Clapeyron equation. 2

(c) (1) Draw and discuss the phase diagram for water system. 3

(i) Write down the principle and calculation for gravimetric estimation of nickel. 3
(d) (1) What is secondary standard substance? Give examples. 2
(i) Give one example of redox indicator with structure. 1

(i) Write a short note about radioactive pollution and their effects on animal life. 3
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5. @ I Aol draw Ted mie 1x5=5
(a) T G AR HETER G vl 99 267 —
(i) F+P=C—1
(i) F+P=C+1
(iiiy F+P=C-2

(iv) F+P=C+2

(b) M FAFT T (6T (P GFF QT I T2

(i) ctfsr !

(i) ez ' T
(iii) ¢

(iv) e2= - @I

(c) RIS waeefe™ Sey @ 324y e e ?
(i) CfEAN (FIRET g2
(ii) 2RGIFIE oriFie g
(jii) IR BIRCFITH 7ol
(iv) ATRFEES ST @99
(d) suibre 3B PR —

(i) AETFT TZ SHIZG WIER S @F T |

(i) ATFT TE THNTE 07 AAFGRS ST @ FoASRTe 267 T |
(iii) SN T2 SHAZG AT TeAW @7 T |

(iv) QECGITT AT TeAW € FCa |
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(e) MSfTR® @G [A, °(NH,OH)]-43 S emiq B2

@) A °(NH,OH)+A, °(NH,Cl)-A,°(HCI)
) A,°(NH,CH]+A,°(NaOH)- A °(NaCl)
i) A, °(NH,CI)]+A, °(NaCl)—A, °(NaOH)

) A °(NaOH)]+A,°(NaCl)— A, °(NH,CI)

() T EERS @ 0P e BET NANE T FA0o 20?2

() e

(i) 2GS ATTFIC

(ili) MGTE T2 SHZC
(iv) IZCHITS
(2) U @R B e —

(i) AT G (0 B
(i) == @
(iii) &ree Rpfe @
(iv) ddre [pfs
(h)  0.1(M) =BIFRIS AHHICEE TaCe normality F© 202

@ 0.5 (N)
(ii) 0.1 (N)
(i) (N)/20
(iv) (N)/4

2. @ (I BIED 2oss Ted wiS 2x4=8
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(b) EDTA 2 DIRGHE @3 Ol Sard Al |
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. @ (I g erew Ted wie 2x6=12

(@) () N T 9T e ARFIROR Al 716 | 7B 7 SLE I TNl wAfalfzel
GRS AifFaifzer W TR afont S| 1+2=3

(i) SF FTFeR NaCl, HCl @k CH,COONa @3 9ei® ~faifEel JAF 126.5,
426.2 @€ 91.0 ez @R weE || @3 WAk Tuw fofe wa onitie

SHIFTC B{CeR SN FTOR weniE ARSI [ e i | 3

(b) () BT AR SR AFIG ACCHH @b (0 | 2
(i) rifegis S T « i Tnizae wie | 2

(iii) FOEPT-FCAT ANFR 2AfSDT FCA | 2

() () e vl @b =ie @R A=yl ¢l | 3
(i) TR coifere Roeme @3 ey Fifs @ e 35 S| 3

(d) @) oMo @i omie e Trizde W | 2
(i) 91T AT ([T AR 6 THEI WG | 1

(i) COSE TR @R A GG ©OF AR T/CH (00 | 3




